7 (leading)

1 do
o dnp(leading)

d
dnb(legdi_ng) [pb]

[—2.4,—1.8]

[—1.8,—1.2]

[—1.2, —0.6]
(—0.6,0]

[0,0.6]

[0.6,1.2]
1.2,1.8]
1.8,2.4]

(8.029 + 0.099 + 0.414) x 10 2

0.162 £ 0.001 £ 0.004
0.269 £ 0.002 £ 0.004
0.319 £ 0.002 £ 0.005
0.326 £ 0.002 £ 0.005
0.261 £ 0.002 £ 0.003
0.168 £ 0.001 +£ 0.003

(8.11 + 0.093 + 0.348) x 102

0.908 = 0.011 £ 0.087
1.829 £ 0.015 £ 0.131
3.046 = 0.018 £ 0.178
3.605 £+ 0.02 £ 0.213
3.685 = 0.021 £ 0.209
2.954 £ 0.019 £ 0.176
1.9 =£0.015 £ 0.131
0.917 £ 0.011 + 0.082



